
tir)K/vir smy Fi[.1 Fi[.2 Fi[.3 Fi[.4 Fi[.5 Fi[.6 Fi[.7 Fi[.8 ns<r) j&(n.k[J. (s(n.k[J.

03-04-2025 

g&$vir
8-00 Y) 10.30

a>g\[J
g(Nt g&jrit)-{klSi[r} g(Nt - gÀmt

pyi<vrN 

{aispis}
g&jrit) {pliS}

a>g\[J g(Nt a>g\[J g&jrit) g(Nt

04-04-2025 

S&k\vir
8-00 Y) 10.30

g&jrit)-pyi<vrN                          

{klrv}

a>g\[J
pyi<vrN {aispis} g&jrit) {k&h*}

a>g\[J
(hºd)

(vXin
simi(jk (vXin

g(Nt a>g\[J g&jrit)

05-04-2025 

S(nvir
8-00 Y) 10.30

g(Nt g&jrit)-pyi<vrN 

{kÃli[l}

a>g\[J pyi<vrN 

{aispis}
g(Nt-gÀmt simi(jk (vXin

g&jrit) a>g\[J g&jrit) g(Nt a>g\[J

07-04-2025 

si[mvir
8-00 Y) 10.30

(c#ikim (c#ikim g(Nt gÀmt a>g\[J (hºd) g(Nt
simi(jk (vXin

(vXin
(c#ikim (c#ikim (c#ikim

08-04-2025 

m>gLvir
8-00 Y) 10.30

yi[g an[ 

Si.(SxN

yi[g an[ 

Si.(SxN

(c#ikim (hºd)
g&jrit){k[kirv}

a>g\[J
(hºd)

g&jrit)
si.Xin si.Xin si.Xin

09-04-2025 

b&Fvir
8-00 Y) 10.30 --- ---

kÀ¼y*Tr (c#ikim (c#ikim (vXin
g(Nt (hºd)

--- --- ---

11-04-2025 

S&k\vir
8-00 Y) 10.30 --- --- yi[g an[ Si.(SxN

kÀ¼y*Tr kÀ¼y*Tr s>AkZt s>AkZt s>AkZt --- --- ---

12-04-2025 

S(nvir
8-00 Y)10.00 --- --- ---

yi[g an[ 

Si.(SxN

yi[g an[ 

Si.(SxN

(c#ikim (c#ikim (c#ikim --- --- ---

8-00 Y) 9.15 --- --- --- --- --- kÀ¼y*Tr kÀ¼y*Tr kÀ¼y*Tr --- --- ---

9.15 Y) 10.30 --- --- --- --- --- yi[g an[ Si.(SxN yi[g an[ Si.(SxN yi[g an[ Si.(SxN
--- --- ---

k&l g&N

40

40

80

50

25

50

{8} rjiai[ : {1} ti.10-04-25,g&$vir-mhiv)r jy>t) {2} ti. 14-04-25,si[mvir-Di[. ai>b[Dkr jy>t)

15-04-2025 

m>gLvir

{5} Fi[. 1 Y) 8 ni yi[g an[ Si.(SxNni p\âp#ii[ s>k&l trfY) aipvimi> aiv[l p\âb[>k aiFi(rt rh[S[. 

{3} Fi[. 1 Y) 3 tYi ns<r)/j&(n. k[J/(s(n.k[J ni p\âp#ii[ni u_iri[ p\âp#imi> lKvini rh[S[.

sirAvt (SxN s>k&l

(ot)y s#ii>t pr)xi a[(p\l -2025

p\iY(mk (vBig tYi bilm>(dr (vBig

ni[>F :

{1} Fi[.1 Y) 8 ni[ a¿yisk\m ai[kTi[br Y) mic< mis s&F)ni[ {(ot)y s#ini[} rh[S[. a¿yisk\m tYi p\âp#ii[ni p(r$p s>k&ln) v[bsiET tYi vi[T`sa[p g\&p pr m*k[l vP< 2024-2025 m&jbni rh[S[.

{2} ns<r)/j&(n. k[J/(s(n.k[J ni[ a¿yisk\m (ot)y s#ini[ {p&Atk Big - 2} m&jbni[ rh[S[. smyFi[rN

{7} p\âp#ii[n) g&¼tti jiLvvin) tYi pr)xi dr(myin ki[EpN km<cir) k[ (vwiY)< oiri p\âp#in) fi[Ti[ki[p) krvimi> nh)> aiv[ t[n) 

     s>p*N< jvibdir) j[ t[ SiLini aiciy<~)n) rh[S[.

ns<r)/j&(n.k[J./(s(n.k[J

1 Y) 5 {m&²y (vPyi[}

1.15 klik

1.15 klik

2.00 klik

2.00 klik

2.30 klik

2.00 klik

1 Y) 8 {yi[g an[ Si.(SxN}

{6} ai smyp#ikmi> jNiv[l tir)K an[ smy m&jb j dr[k (vPyi[n) pr)xi l[vin) rh[S[.

{4} Fi[.4 Y) 8 ni p\âp#ii[ni u_iri[ algY) u_irvh)mi> lKvini rh[S[.

6 Y) 8 {m&²y (vPyi[}

1 Y) 8 {(c#ikim}

3 Y) 8 {kÀ¼y*Tr}

pr)xin&> smyp#ik

s>cilk

www.sssankul.org 

ti.17-02-25



 

1 

 

vP< drÀyin l[vinir pr)xiai[n&> aiyi[jn  

bilm>(dr (vBig / p\iY(mk (vBig 

S]x(Nk vP< 2024-25 

 

bilm>(dr (vBig :- 

 ns<r) / j&(n.k[.J. / (s(n.k[.J.{bilvi(Tki} 

(vPyi[ : {1}  g&jrit)  {2} g(Nt {3} a>g\[J {4} (c#ikim {5} si.Xin {6} g)t-viti< 

pr)xi mis a¿yisk\m g&N 

p\Ym s#ii>t pr)xi ai[kTi[br piqyp&Atk m&jb p\Ym s#ini[ 40 l[(Kt +10 mi](Kk=50 g&N 

(ot)y s#ii>t pr)xi a[(p\l piqyp&Atk m&jb (ot)y s#ini[ 40 l[(Kt +10 mi](Kk=50 g&N 

ni[>F : 1. ns<r)/j&(n. k[J an[ (s(n k[J{bilvi(Tki} n) g)t-viti< (vPyn) dr[k pr)xi fkt mi](Kk 

 {k&l g&N j[Tl)} SiLi kxia[ l[vin) rh[S[.{bik)ni (vPyi[ni p\âp#ii[ rh[S[.} 

        2. ns<r) / j&(n. k[J. an[ (s(n k[J (vBigni[ a¿yisk\m dr[k piqyp&Atkmi> aip[l C[ t[ m&jbni[ rh[S[. 

p\iY(mk (vBig :-Fi[rN 1 Y) 5 

 Fi[rN -  1  (vPyi[ : {1} g&jrit)-pyi<vrN {klrv} {2} g(Nt  {3} a>g\[J {4} (c#ikim  

 {5} yi[g an[ Si.(SxN 

 Fi[rN -  2  (vPyi [ : {1} g&jrit)-pyi<vrN {kÃli[l} {2} g(Nt    {3} a>g\[J  

  {4} (c#ikim  {5} yi[g an[ Si.(SxN  

 Fi[rN -  3     (vPyi[ : {1} g&jrit) {klSi[r}  {2} g(Nt -gÀmt  {3} pyi<vrN {aispis}  

 {4} a>g\[J {5} (c#ikim {6} kÀ¼y*Tr {7} yi[g an[ Si.(SxN 

 Fi[rN -  4    (vPyi[ : {1} g&jrit) {k&h*} {2} g(Nt -gÀmt    {3} pyi<vrN {aispis} 

  {4} a>g\[J  {5} (hºd) {fkt (ot)y s#i miT[} {6} (c#ikim {7} kÀ¼y*Tr   

  {8} yi[g an[ Si.(SxN 

 Fi[rN -  5     (vPyi[ : {1} g&jrit) {k[kirv} {2} g(Nt -gÀmt    {3}  a>g\[J   

  {4}  pyi<vrN {aispis}  {5} (hºd)   {6} (c#ikim {7} kÀ¼y*Tr   

  {8} yi[g an[ Si.(SxN 
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pr)xi mis a¿yisk\m g&N 

p\Ym s#ii>t pr)xi ai[kTi[br j*n Y) s¼TÀ[br mis s&F)ni[ 

{p\Ym s#ini[} 

40 l[(Kt +10 ai>t(rk = 50 g&N 

(ot)y s#ii>t pr)xi a[(p\l ai[kTi[br Y) mic< mis s&F)ni[ 

{(ot)y s#ini[} 

40 l[(Kt +10 ai>t(rk = 50 g&N 

 

ni[F :  (c#ikim, kÀ¼y*Tr,(hºd) {Fi[.4 miT[} an[  yi[g an[ Si.(SxNn) pr)xi n)c[  

  jNiÄyi m&jb l[vimi> aivS[.  

 1. (c#ikim : {Fi[. 1 Y) 5} p\Ym s#ii>t pr)xi {50 g&N}an[ (ot)y s#ii>t pr)xi  

{50 g&N} n) l[vimi> aivS[. {s>k&lni a¿yisk\m m&jb} 

2. kÀ¼y*Tr: {nvn)t p\kiSn} {Fi[. 3 Y) 5} p\Ym s#ii>t pr)xi  tYi (ot)y  

      s#ii>t pr)xi 25 g&N l[(Kt {MCQ p\miN[ 1 g&Nni[ 1 p\â a[vi 25 

   p\âi[ rh[S[.} tYi 25 g&N p\iyi[(gk rh[S[. 

  3. (hºd) : {Fi[.4} (hºd) (vPyn) fkt (ot)y s#ii>t pr)xi j l[vimi> aivS[. 

  j[mi> 40 g&N l[(Kt tYi 10 g&N ai>t(rk rh[S[. 

4. yi[g an[ Si.(SxN : {Bi(vk p¾l)k[Sn}{Fi[rN  1 Y) 3 } fkt (ot)y  

   s#ii>t pr)xi {100 g&N} j[mi> 50 g&N l[(Kt {MCQ p\miN[ 2 g&Nni[ 1 

                  p\â a[vi 25 p\âi[ rh[S[.} tYi 50 g&N p\iyi[(gkni rh[S[. 

 {a¿yisk\m smg\ rh[S[.} 

5. yi[g an[ Si.(SxN : {Bi(vk p¾l)k[Sn} {Fi[rN 4 an[ 5} fkt (ot)y 

           s#ii>t pr)xi{100 g&N}j[mi> 50 g&N l[(Kt {MCQ p\miN[ 1 g&Nni[ 1 

 p\â a[vi 50 p\âi[ rh[S[.}tYi 50 g&N p\iyi[(gkni rh[S[. {a¿yisk\m  

 smg\ rh[S[.} 

  

Fi[rN -  6 Y) 8 miT[ni (vPyi[ : 

   (vPyi[ :  {1} g&jrit) {2} a>g\[J {3}(hºd)  {4} simiJk (vXin  {5} g(Nt   

{6} (vXin  {7} s>AkZt  {8} (c#ikim  {9}  kÀ¼y*Tr  {10} yi[g an[ Si.(SxN 

 

pr)xi mis a¿yisk\m g&N 

p\Ym s#ii>t pr)xi ai[kTi[br j*n Y) s¼TÀ[br mis s&F)ni[ 

{p\Ym s#ini[} 

l[(Kt + ai>t(rk=k&l 

   80  + 20   = 100 

(ot)y s#ii>t pr)xi    a[(p\l ai[kTi[br Y) mic< mis s&F)ni[ 

{(ot)y s#ini[}  

l[(Kt + ai>t(rk=k&l 

   80  + 20   = 100 
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ni[>F : (c#ikim ,kÀ¼y*Tr ,s>AkZt  an[ yi[g an[ Si.(SxN (vPyn) pr)xi n)c[ jNiÄyi m&jb l[vimi> aivS[. 

1. (c#ikim : {Fi[. 6 Y) 8} {svi<>g) (SxN- g&jrit rijy SiLi piqy p&Atk m>DL aivZ(_i} 

         p\Ym s#ii>t pr)xi {50 g&N} an[ (ot)y s#ii>t pr)xi {50 g&N} n) l[vimi> aivS[. 

2. kÀ¼y*Tr : : {Fi[. 6 Y) 8} {nvn)t p\kiSn} 

              p\Ym s#ii>t pr)xi  tYi (ot)y s#ii>t pr)xi 25 g&N l[(Kt –  

             {MCQ p\miN[ 1 g&Nni[ 1 p\â a[vi 25 p\âi[ rh[S[.}  tYi 25 g&N p\iyi[(gk rh[S[. 

3. yi[g an[ Si.(SxN  {Fi[. 6 Y) 8 miT[ } {svi<>g) (SxN- g&jrit rijy SiLi piqy p&Atk m>DL 

   aivZ(_i} fkt (ot)y s#ii>t pr)xi 100 g&Nn) rh[S[ j[mi> 50 g&N l[(Kt {MCQ p\miN[ 1 

g&Nni[ a[k a[vi 50 p\âi[ rh[S[} tYi 50 g&N p\iyi[(gk rh[S[. {a¿yisk\m smg\ rh[S[.} 

     4.  s>AkZt : {Fi[. .6 Y) 8}  s>AkZtn) pr)xi 80 g&N l[(Kt an[ 20 g&N ai>t(rk rh[S[.  

        

80 % 100 % A 

65 % 79 % B 

50 % 64 % C 

35 % 49 % D 

35 % E 

ni[>F :  

1. pr)ximi> m[Lv[l g&N/Tkini aiFir[ upr m&jb g\[D aipvini rh[S[. 

2. Fi[rN 1 Y) 8 ni[ a¿yisk\m s>k&l[ nkk) kyi< m&jbni[ rh[S[. j[ s>k&ln)  

v[b siET tYi vi[T`sa[p g\&p pr m&kvimi> aiv[l C[. 

3. Fi[rN 1 Y) 8 ni p\âp#ini p(r$p s>k&l oiri v[bsiET tYi vi[T`sa[p gZp pr 

pr)xi agiu m*kvimi> aivS[. t[ m&jb rh[S[. 

4. Fi[.1 Y) 8 ni[ pr)xini[ kiy<k\m pr)xi agiu v[bsiET tYi vi[T`sa[p gZp pr 

m*kvimi> aivS[ t[ tir)K an[ smy m&jb pr)xi l[vin) rh[S[. 

5. Fi[rN 1 Y) 3 ni p\âp#ii[ni u_iri[ p\âp#ii[mi> j lKvini rh[S[. 

6. Fi[rN 4 Y) 8 ni p\âp#ii[ni u_iri[ algY) u_irvh)mi> lKvini rh[S[. 

7. ns<r)/j&(n.k[J. tYi (s(n.k[Jni p\âp#ii[ni u_iri[ p\âp#ii[mi> j lKvini rh[S[. 
         

          (l. 

              s>cilk 

 

        

                      sirAvt (SxN s>k&l 


